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1. ಮĥÂನ ²ೆಚು¹ವĸ ಅಲುÍĲ£ಾ ಉಪľÄĦಯ 

ಇġ¾�ೆಗಳĹÐ ©ಾವ ಗುಣವ� ಪÎĦİಂİತ-

®ಾಗುತÃ¡ೆ ? 

 (1) ಇġ¾�ೆಗಳ� ಮುĸಯುವಂತವ� ಮತುÃ 

ದುಬ�ಲ ಆಗುತÃ¡ೆ. 

 (2) ಇġ¾�ೆಗಳ� ಒಣĖದ ĳೕ¬ೆ 

�ೊಂ�ಾಗುವಂ�ೆ ¨ಾಡುತÃ¡ೆ. 

 (3) ಇġ¾�ೆಗಳ� �ೆಂಪ� ಬಣÂĨಂದ ಹಳĨ ಬಣÂ�ೆ´ 

ಬದ¬ಾಗುತÃ¡ೆ. 

 (4) ಇġ¾�ೆಗಳ� ಗġ¾©ಾĖ ²ಾಗು ¦ಾĺ�ೆ 

ಬರುತÃ¡ೆ. 

 

2. ದೂರವನುÇ ಅ­ೆಯುವ ಸಲು®ಾĖ, ®ಾಹನದ 

ಚಕÎ�ೆ´ �ೋģಸ¬ಾದ ಉಪಕರಣ ©ಾವ�ದು ? 

 (1) ಪ±ೊÕೕ Ĳೕಟŝ 

 (2) ¤ೆ�ೊ Ĳೕಟŝ  

 (3) ಓ�ೋ Ĳೕಟŝ 

 (4) ľÈೕ�ೋ Ĳೕಟŝ 

3. ಒಂದು ವಸುÃĻನ ĳೕ¬ೆ ĩģೕŝ (ಆಕľÌಕ) 

ಮತುÃ ಕÎĳೕಣ ಒತÃಡ ²ಾĔ¡ಾಗ ಎರಡು 

ಒತÃಡದ ನಡು®ೆ ಇರುವ ವÍ�ಾÍಸ®ೇನು  

 (1) ಶ�ನÍ�ೆ´ ಸ¨ಾನ 

 (2) ಅಧ� ಪಟು¾  

 (3) ಎರಡು ಪಟು¾  

 (4) ಆರು ಪಟು¾  

 

4. �ಾÍಂġĹವŝ İೕś ನುÇ ಅದರ ಮುಕÃ ತುĨ ಯĹÐ 

¬ೋŏ ¨ಾģ¡ಾಗ, ಗĸಷ¿ ಸಂ�ೋಚನ ಒತÃಡ 

ಅıವೃĨÆ ©ಾವ §ಾಗದĹÐರುತÃ¡ೆ  

 (1) İೕĲನ �ೆಳ §ಾಗದĹÐ 

 (2) İೕĲನ ĳೕĹನ §ಾಗದĹÐ 

 (3) ĳೕĹನ ಮತುÃ �ೆಳ §ಾಗದĹÐ 

 (4) İೕĲನ ಮಧÍ §ಾಗದĹÐ 
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1. The presence of excess alumina in 

the clay is reflected in the bricks 

as  

 (1) Makes the bricks brittle and 

weak 

 (2) Makes the bricks crack warp 

on drying 

 (3) Changes the colour of the 

brick from red to yellow 

 (4) Improves impermeability and 

durability of the brick 

 

2. The instrument attached to the 

wheel of a vehicle in order to 

measure the distance travelled, is 

called as  

 (1) Passometer  

 (2) Pedometer 

 (3) Odometer 

 (4) Speedometer 

3. The value of the stress induced in 

a body, when it is suddenly 

loaded, is ________ times the 

stress induced when the same load 

is applied gradually.  

 (1) Equal to zero  

 (2) One half 

 (3) Twice 

 (4) Six times 

 

4. When the cantilever beam is 

loaded at its free end, the 

maximum compressive stress shall 

develop at  

 (1) Bottom beam  

 (2) Top beam 

 (3) Top and bottom beam 

 (4) Middle beam 
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5. �ೆಳ�ೆ �ೊġ¾ರುವ ©ಾವ ಅªೆಘನ ವಸುÃ �ೇವ 

Īªೋಧಕ�ೆ�ಾĖ ಅ§ೇದÍ ಪದರವನುÇ 

ರೂīಸುತÃ¡ೆ. 

 (1) ¨ಾÍľ¾Ń ಅ±ಾÉş¾ 

 (2) İಟುĳŖ 

 (3) ಅಲುĲನş  

 (4) İಟುĲನŤ ¥ೆş¾  

 

6. ಸಮುದÎ Īೕĸನ ಸĲೕಪದ �ಾಂĔÎೕō 

ಕಟ¾ಡವನುÇ ĪĲ�ಸಲು ಆĶ´ ¨ಾಡ¦ೇ�ಾದ 

ľĳಂō ©ಾವ�ದು 

 (1) ²ೈ ಅಲುÍĲ£ಾ ľĳಂō  

 (2) ļೕಘÎ®ಾĖ ಗġ¾©ಾಗುವ ľĳಂō  

 (3) ಕģĳ ¯ಾಖದ ľĳಂō  

 (4) ಸ¬ೆÉೕō Īªೋಧಕ ľĳಂō  

7. ಒಂದು �ೇಂ¡ಾÎಪ�ಾĲ ಪಂŗ ದÎವವನುÇ 

²ೊರ²ಾಕಲು ¤ಾÎರಂıಸುವ�ದು, ಪÎ�ೋದಕ 

ಒತÃಡ ಏĸ�ೆ ಇದ�ೆ´ ಸ¨ಾನ®ಾĖ¡ಾÅಗ ¨ಾತÎ 

 (1) �ೈ£ೆġŃ ²ೆŏ  

 (2) ®ೆ¬ಾľġ ²ೆŏ 

 (3) ±ಾ¾ġŃ ²ೆŏ  

 (4) ū£ೊĳġÎŃ ²ೆŏ  

 

8. ಗªೆƍō ನ ªೇ�ಾěತÎ Īೕಡುವ �ಾ£ೆş 

Ļ£ಾÍಸ ě�ಾÎತÌಕ Ļ¢ಾನವ� ©ಾವ ľ¡ಾÆಂತ 

ಆ¢ಾರ®ಾĖರುತÃ¡ೆ  

 (1) �ೆನģ ľ¡ಾÆಂತ 

 (2) ¬ಾ�ೇŜÕ ľ¡ಾÆಂತ 

 (3) ĖřÕ ľ¡ಾÆಂತ 

 (4) �ೊ±ಾÐŤ ľ¡ಾÆಂತ 
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5. A semi rigid material which forms 

an excellent impervious layer for 

damp proofing is termed as  

 (1) Mastic Asphalt  

 (2) Bitumen 

 (3) Aluminal 

 (4) Bituminous felt 

 

6. The cement chosen to build a 

concrete structure in the vicinity 

of sea water is   

 (1) High alumina cement  

 (2) Rapid hardening cement 

 (3) Low heat cement 

 (4) Sulphate resisting cement 

7. A centrifugal pump will start 

delivering liquid only when the 

pressure rise in the impeller is 

equal to the  

 (1) Kinetic head  

 (2) Velocity head 

 (3) Static head 

 (4) Monometric head 

 

8. Garret’s diagram gives the 

graphical method of designing a 

channel based  on   

 (1) Kennedy’s theory  

 (2) Lacey’s theory 

 (3) Gibbs theory 

 (4) Khosla’s theory 
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9. £ೈಸĖ�ಕ®ಾĖ ²ೆಚು¹ವ ಹಗುರ®ಾದ ಉಷÂ �ಾĺ, 

ತಂಪ� ಮತುÃ ±ಾಂದÎ ®ಾ�ಾವರಣವನುÇ 

ಸಂĨľ ಮ­ೆ©ಾಗುವ Ļ¢ಾನ (¤ೆÎľī�ೇಷŖ) 

ವನುÇ ಏ£ೆಂದು ಕªೆಯು�ಾÃªೆ  

 (1) ಚಂಡ¨ಾರುತ ಮ­  ೆ(¤ೆÎľī�ೇಷŖ) 

 (2) ಕ£ೆÒĔ¾š ಮ­  ೆ(¤ೆÎľī�ೇಷŖ) 

 (3) ಓªೋ�ಾÎĬŃ ಮ­  ೆ(¤ೆÎľī�ೇಷŖ) 

 (4) ಇವ�ಗಳĹÐ ©ಾವ�ದೂ ಅಲÐ 

 

10. §ಾರĦೕಯ ಗುಣಮಟ¾ದ ಪÎ�ಾರ, ಗೃಹ�ಾಯ� 

ಉ¡ೆÅೕಶ�ಾ´Ė ತ¬ಾ Īೕĸನ ಬಳ�ೆ Ĩನ�ೆ´  

 (1) 85 Ĺೕಟŝ ಗಳ� 

 (2) 135 Ĺೕಟŝ ಗಳ� 

 (3) 175 Ĺೕಟŝ ಗಳ� 

 (4) 273 Ĺೕಟŝ ಗಳ� 

11. ಪġಕವನುÇ �ೊ©ಾಗು¬ೆಂō (ಗರ�ೆ�ಾĸ) ಆĖ 

Īೕĸ�ೆ ¦ೆªೆľ¡ಾಗ ಏ£ಾಗುತÃ¡ೆ  

 (1) Īೕĸನ pH ¨ೌಲÍವ� ಕģĳ©ಾಗುತÃ¡ೆ 

 (2) Īೕĸನ pH ¨ೌಲÍವ� ²ೆ�ಾ¹ಗುತÃ¡ೆ 

 (3) Īೕĸನ pH ¨ೌಲÍದ ĳೕ¬ೆ ಪÎ§ಾವ 

İೕರುವ�ĨಲÐ 

 (4) ಇವ�ಗಳĹÐ ©ಾವ�ದೂ ಅಲÐ 

 

12. ಇಂģಯŖ ªೋŏ �ಾಂ�ೆÎŤ (IRC) 

�ಾ©ಾ�ಲಯ ಎĹÐ¡ೆ 

 (1) �ೋಲ´�ಾÃ 

 (2) ¦ೆಂಗಳ�ರು 

 (3) ಮುಂ¦ೈ 

 (4) ನವ ¡ೆಹĹ 
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9. The precipitation caused by 

natural rising of warmer lighter air 

in colder and denser surrounding 

is called  

 (1) Cyclonic precipitation  

 (2) Convective precipitation 

 (3) Orographic precipitation 

 (4) None of these 

 

10. As per Indian standards the water 

consumption per capita per day 

for domestic purpose is  

 (1) 85 Liters  

 (2) 135 Liters 

 (3) 175 Liters 

 (4) 273 Liters 

11. What will happen when the    

alum is mixed with water as a 

coagulant ? 

 (1) Decrease pH value of water  

 (2) Increase pH value of water   

 (3) Does not effect pH value of 

water 

 (4) None of these 

 

12. The headquarter of Indian Road 

Congress (IRC) is located at  

 (1) Kolkata  

 (2) Bangalore 

 (3) Mumbai 

 (4) New Delhi 
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13. �ೆಳĖನ ©ಾವ Ļ¢ಾನವನುÇ ¤ಾದ�ಾĸ ಪಥದ 

£ೆಲಗġ¾�ೆ ²ೊಂĨ�ೊಳ�Ñವ Ļ£ಾÍಸವನುÇ IRC 

ಸೂěಸುತÃ®ೆ 

 (1) ľ.İ.ಆŝ. ಪĸೕďೆ 

 (2) ಗುಂಪ� ಸೂಚÍಂಕ ಪĸೕďೆ 

 (3) ®ೆಸ¾ŝ �ಾŏ� ಪĸೕďೆ 

 (4) ನುಗು¶ವ ಪĸೕďೆ 

 

14. �ಾಂĔÎೕō ರ±ೆÃಯ ಮಧÍªೇ�ೆ�ೆ 

ಸ¨ಾ£ಾಂತರ®ಾĖರುವ �ೋಡ�ೆಯನುÇ 

ಏ£ೆಂದು ಕªೆಯ¬ಾಗುತÃ¡ೆ  

 (1) ಅನುಲಂಬ �ೋಡ�ೆ 

 (2) �ಾÎŖÕ ವŤ� (ಅಡÀಡÀ) �ೋಡ�ೆ 

 (3) ĻಸÃರ�ೆ �ೋಡ�ೆ 

 (4) ಇವ�ಗಳĹÐ ಎಲÐವ� 

15. ಏಕ ಸರĺನ ಬಲವĩ�ತ İೕś ಗಳĹÐ ಉĔ´ನ 

ಮುಖÍ ಸರĺನ ಬಲವಧ�£ೆಯನುÇ ಎĹÐ 

ಒದĖಸ¬ಾಗುತÃ¡ೆ ? 

 (1) ±ೆ�ೆತದ ವಲಯ 

 (2) ಸಂ�ೋಚನ ವಲಯ 

 (3) ತಟಸÄ ವಲಯ 

 (4) Ħĸಚು ವಲಯ 

 

16. ĪĽ´òೕಯ ¬ೋŏ ಗಳ� ಮತುÃ ĳೕಲು¤ೇĸľದ 

¬ೋŏ ಗಳನುÇ ²ೊರಬಲÐ ಸಂīೕಡಕ ಸದಸÍದ 

ಗĸಷ¿ ±ೆÐಂಡ£ೆ�Ť ಅನು¤ಾತ ಎಷು¾ ? 

 (1) 145 

 (2) 180 

 (3) 210 

 (4) 250 
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13. Which of the following method is 

recommended by IRC for design 

of flexible pavement ?  

 (1) CBR test  

 (2) Group index test 

 (3) Westergaard test 

 (4) Penetration test 

 

14. The joint, parallel to center line of 

the concrete road, are called  

 (1) Longitudinal joint  

 (2) Transverse joint 

 (3) Expansion joint 

 (4) All of these 

15. In singly reinforced beams, steel 

Main reinforcement is provided in  

 (1) Tensile zone  

 (2) Compression zone 

 (3) Neutral zone 

 (4) Shear zone  

 

16. The maximum slenderness ratio of 

a compression member which 

carry loads resulting from dead 

loads and superimposed loads  

 (1) 145 

 (2) 180 

 (3) 210 

 (4) 250 
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17. ಸಂīೕಡನ ಅಂಗ�ಾ´Ė ¬ೇľಂŅ ¦ಾŝ ನ 

ಕೃಶತÒ ಪÎ̈ ಾಣವ� ©ಾವ�ದನುÇ Ĳೕರ¦ಾರದು 

 (1) 130 

 (2) 135 

 (3) 145 

 (4) 150 

 

18. ಹುŃÕ Īಯಮವ� ಒತÃಡ ಮತುÃ ತುಯÃ�ೆ´  

ಸಂಬಂĩľದಂ�ೆ ಎĹÐಯವªೆ�ೆ ಅನÒĵಸುತÃ¡ೆ 

 (1) ľÄĦ±ಾÄಪಕ ĲĦ 

 (2) ಇಳ�ವĸ İಂದು 

 (3) ¤ಾÐľ¾Ń ĲĦ  

 (4) ¦ೆÎೕĔಂŅ İಂದು 

 

19. ¦ೆಂģಂŅ ಸĲೕಕರಣದ ಅıವÍĔÃಯು 

 (1) R
E

=
y
f

=
I

M

 

 (2) 
R
E

=
f
y

=
I

M  

 (3) E
R

=
y
f

=
I

M

 

 (4) y
R

=
E
f

=
I

M

 

20. ¤ಾಶÒ� ತುಯÃ ಮತುÃ ªೇĕೕಯ ತುಯÃಗĺĖರುವ 

ಅನು¤ಾತವನುÇ Ŀೕ�ೆನುÇ�ಾÃªೆ.  

 (1) ľÄĦ±ಾÄಪಕತÒದ ¨ಾಡುÍಲŤ  

 (2) ¤ೆಡľನ ¨ಾಡುÍಲŤ / ¨ಾಡುÍಲŤ ಆŘ 

ĸĝģġ 

 (3) ªಾļ (ಸಗಟು) ¨ಾಡುÍಲŤ / ಬş´ 

¨ಾಡುÍಲŤ 

 (4) ¤ಾĵಸŖÕ ªೇಷುÍ (ಅನು¤ಾತ) 

 

21. �ಾĦÎೕಯ Ħರುಚ (®ಾಲುÍĳġÎŃ ±ೆĄñೕŖ) ನುÇ 

Ŀೕ�ೆ ®ಾÍ�ಾÍĪಸಬಹುದು. 

 (1) 
V
Uδ

 

 (2) 
Vδ

U  

 (3) 
Vδ

m

 

 (4) 
m
Vδ
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17. The slenderness ratio of the lacing 

bar for compression member 

should not exceed  

 (1) 130 

 (2) 135 

 (3) 145 

 (4) 150 

 

18. Hooke’s law refer to stress and 

strain in the body holds true upto  

 (1) Elastic limit  

 (2) Yield point 

 (3) Plastic limit 

 (4) Breaking point 

 

19. Expression for bending equation 

is ______  

 (1) 
R
E

=
y
f

=
I

M

 

 (2) 
R
E

=
f
y

=
I

M  

 (3) 
E
R

=
y
f

=
I

M

 

 (4) 
y
R

=
E
f

=
I

M  

20. Ratio of lateral strain to linear 

strain is called ______  

 (1) Modulus of elasticity  

 (2) Modulus of rigidity 

 (3) Bulk modulus 

 (4) Poisson’s ratio 

 

21. Volumetric strain is defined as 

_____.  

 (1) 
V
Uδ

 

 (2) 
Vδ
U  

 (3) 
Vδ

m

 

 (4) 
m
Vδ  
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22. �ಾಂĔÎೕġನ ಮುಖÍ ಘಟಕಗ­ೆಂದªೆ ľĳಂō 

ನುಣುಪ� ಮರಳ� ಮತುÃ _____ 

 (1) ಮಣುÂ 

 (2) ಒರಟು ದಪÈ ಕಲುÐಗಳ� 

 (3) ²ೊಂಡ ಧೂಳ� 

  (4) ಕಲುÐಗĥ ಧೂಳ� 

 

23. ಯೂĪō ಉದÅ�ೆ´ ಆಗುವ �ಾತÎ ಬದ¬ಾವ�ೆ  

ಎಂದªೆ 

 (1) ಒತÃಡ 

 (2) ľÄĦ±ಾÄಪಕತÒದ ¨ಾಡುÍಲŤ 

 (3) ತುಯÃ 

 (4) ಇವ�ಗಳĹÐ ©ಾವ�ದೂ ಅಲÐ 

24. ಉĔ´ನ ¤ಾĵಸŖÕ ಪÎ¨ಾಣವ� ಇವ�ಗಳ 

ನಡು®ೆ 

 (1) 0.20 ĸಂದ 0.25 

 (2) 0.25 ĸಂದ 0.33 

 (3) 0.35 ĸಂದ 0.40 

 (4) 0.45 ĸಂದ 0.50 

 

25. ¦ಾĖ�ೆ İಗುವ� ಇರುವ ಅčದ ತಟಸÄ ಅčವ� 

ಇಷು¾ ಇರುತÃ¡ೆ 

 (1) ಕĪಷ¾ 

 (2) ±ೊ£ೆÇ 

 (3) ಗĸಷ¾ 

 (4) ಅನಂತ 

 

26. °ಾŘ¾ Īಂದ ವ�ಾ�ವ�ೆ ಆಗುವ ±ಾಮಥÍ�ದ 

ಅıವÍĔÃಯು _____ Ĕ¬ೋ®ಾÍōÕ ಗಳĹÐ. 

 (1) 
60
NTπ2   

 (2) 
NTπ2

60  

 (3) 
60
NTπ3   

 (4) 
NTπ3

60  
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22. Main ingredients of concrete are 

cement, fine aggregate and 

_______   

 (1) Soil  

 (2) Coarse aggregate 

 (3) Pond ash 

 (4) Quarry dust 

 

23. The term deformation per unit 

length is referred for ______  

 (1) Stress  

 (2) Modulus of elasticity 

 (3) Strain 

 (4) None of these 

24. Poisson’s ratio for steel lies 

between _______  

 (1) 0.20 to 0.25  

 (2) 0.25 to 0.33 

 (3) 0.35 to 0.40 

 (4) 0.45 to 0.50 

 

25. The neutral axis of a section is an 

axis at which bending stress is 

______  

 (1) minimum 

 (2) zero 

 (3) maximum 

 (4) infinity 

 

26. Power transmitted by a shaft is 

given by expression _______ in 

kilowatts  

 (1) 
60
NTπ2

 

 (2) 
NTπ2

60  

 (3) 
60
NTπ3

 

 (4) 
NTπ3

60  
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27. Īೕĸನ ĿೕರುĻ�ೆಯು (ūದಲ£ೇ ದ�ೆ�)  

ಇġ¾�ೆ�ಾĖ ಇದĔ´ಂತ �ಾľÃ ಇರ¦ಾರದು 

 (1) 12% 

 (2) 15% 

 (3) 20% 

 (4) 25% 

 

28. ಈ �ೆಳĖನವ�ಗಳĹÐ ಭೂĲಯĹÐನ ©ಾವ 

ಘಟಕವ� ಇġ¾�ೆಗಳ ಸĸ©ಾದ ಆ�ಾರ�ೆ´ 

¤ಾÐľ¾ಕ�ೆಯನುÇ ĪೕಡುತÃ¡ೆ 

 (1) ľĹ�ಾ 

 (2) ಸುಣÂ 

 (3) ಅಲುÍĲನ 

 (4) ĳĖÇೕĽಯ 

 

29. ಇġ¾�ೆಗಳನುÇ ಸುಡುವ ಉಷÂ�ಾ ®ಾÍīÃಯು 

_____. 

 (1) 500 - 700° C  

 (2) 700 - 900° C 

 (3) 900 - 1200° C 

 (4) 1200 - 1500° C 

30. ಇವ�ಗಳĹÐ ಗಡು±ಾದ ¬ೋಹ ©ಾವ�ದು ? 

 (1) �ಾÒō»�  

 (2) ¥ೆşÕ ಪŝ   

 (3) �ಾ£ೆ�ō  

 (4) ಆಂĬ¦ೋş  

 

31. ±ಾ¨ಾನÍ Ūೕō� ¬ಾÍಂŏ ľĳಂō ನ 

ĳೕ¬ೆĊ ಪÎ¡ೇಶವ� ಇದĔ´ಂತ ಕģĳ 

ಇರ¦ಾರದು 

 (1) 2250 

 (2) 3000 

 (3) 3250 

 (4) 4000 

 

32. ľĳಂō ನ ದೃಢ�ೆಯ ಪĸೕďೆ�ೆ ಇದನುÇ 

ಉಪŴೕĖಸು�ಾÃªೆ 

 (1) ಟİ�ģġ (ಪÎčುಬÆ) Ĳೕಟŝ  

 (2) Ĺೕ �ಾÍಟĹಯŤ� ಉಪಕರಣ 

 (3) Ļ�ಾÍōÕ ಉಪಕರಣ 

 (4) İÎ�ೆÒō (¤ಾಳ)  
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27. Water absorption for Ist class 

bricks should not be more than 

______   

 (1) 12% 

 (2) 15% 

 (3) 20% 

 (4) 25% 

 

28. Which of the following 

constituent in earth gives 

plasticity to mould bricks in 

suitable shape ?  

 (1) Silica 

 (2) Lime 

 (3) Alumina 

 (4) Magnesia 

 

29. Bricks are burnt at a temperature 

range of _______  

 (1) 500 - 700° C  

 (2) 700 - 900° C 

 (3) 900 - 1200° C 

 (4) 1200 - 1500° C 

30. Which of the following is hardest 

mineral ?   

 (1) Quartz 

 (2) Felspar 

 (3) Garnet 

 (4) Amphibole 

 

31. Ordinary portland cement should 

have surface area not less than 

_______  

 (1) 2250 

 (2) 3000 

 (3) 3250 

 (4) 4000 

 

32. Soundness of cement is tested 

using ________   

 (1) Turbidity meter  

 (2) Le Chatelier’s apparatus 

 (3) Vicat’s apparatus 

 (4) Briquette 
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33. ಮರĺನ ಅĦ ಉಬುÊĻ�ೆ (¡ೊಡÀ ಆ�ಾರ) ಈ 

ಆದÎ��ೆಯ ಅಂಶĨಂದ ಆಗುತÃ¡ೆ 

 (1) 5% 

 (2) 8% 

 (3) 11% 

 (4) 14% 

 

34. ಕİÊಣದ ಕ�ಾº ರೂಪ ಇದು 

 (1) ಮೃದು ಉಕು´/ĳೖşÀ ľ¾ೕş  

 (2) İೕಡು ಕİÊಣ/īŅ ಐರŖ  

 (3) ĳೕದು ಕİÊಣ/ªಾō (Wrought) ಐರŖ  

 (4) ಎರಕದ ಕİÊಣ/�ಾÍŤ¾ ಐರŖ  

 

35. ಮೃದು ಉĔ´ನĹÐ ಕİÊಣದ ಪÎ¨ಾಣ ಇಷು¾ 

ಇರುತÃ¡ೆ 

 (1) 50% 

 (2) 80% 

 (3) 90% 

 (4) 99% 

36. ಈ �ೆಳĖನ ©ಾವ ಅĨĸĪಂದ ಸತುವನುÇ 

�ೆ�ೆಯು�ಾÃªೆ 

 (1) ಗ¬ೇ£ಾ 

 (2) ¦ಾÐŃ �ಾŃ  

 (3) �ೋರಂಡś  

 (4) ¨ಾಲ�ೈō  

 

37. ಈ �ೆಳĖನವ�ಗಳĹÐ ©ಾವ�ದು ಅĦ ±ಾಂದÎ 

ಮತುÃ ಹಗುರ®ಾದ ¬ೋಹ 

 (1) ಅಲುÍĲĪಯś  

 (2) �ಾಮÎ 

 (3) ľೕಸ 

 (4) ತವರ 

 

38. ಬಣÂಗಳĹÐ ಶುಷ´�ಾĸಯ ಪÎ¨ಾಣ ಇಷ¾�ೆ´ 

ĲĦ�ೊĺľ¡ೆ 

 (1) 2% 

 (2) 4% 

 (3) 6% 

 (4) 8% 
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33. The maximum bulking of sand is 

likely to occur at moisture content 

of ______.  

 (1) 5% 

 (2) 8% 

 (3) 11% 

 (4) 14% 

 

34. The crudest form of iron is 

______.  

 (1) Mild steel  

 (2) Pig Iron 

 (3) Wrought Iron 

 (4) Cast Iron 

 

35. In mild steel the iron content is 

about _______.  

 (1) 50% 

 (2) 80% 

 (3) 90% 

 (4) 99% 

36. From which of the following ore 

zinc is extracted ? 

 (1) Galena 

 (2) Black jack 

 (3) Corundum 

 (4) Malachite 

 

37. Which of the following is densest 

and lightest metal ?  

 (1) Aluminium 

 (2) Copper 

 (3) Lead 

 (4) Tin 

 

38. The quantity of drier in paints is 

limited to ______  

 (1) 2% 

 (2) 4% 

 (3) 6% 

 (4) 8% 
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39. ಅĖÇ Īªೋಧ ಬಣÂಗಳĹÐನ ಮುಖÍ ಘಟಕ 

 (1) ಅಲುÍĲĪಯś ¤ೌಡŝ  

 (2) �ೆಂಪ� ľೕಸ (ªೆŏ ¬ೆŏ) 

 (3) �ಾಮÎದ ಪ�ģ/�ಾಪŝ ¤ೌಡŝ  

 (4) ಆ±ೆÊ±ೊ¾ೕŤ ¥ೈಬŤ� 

 

40. ģ±ೈರಬş �ಾಂĔÎೕō _____ ಇ¡ಾÅಗ ¤ಾĹಮŝ 

�ಾಂĔÎೕō ನುÇ ĪĨ�ಷ¾®ಾĖ ಉಪŴೕĖಸು�ಾÃªೆ. 

 (1) ಹಗುರ ತೂಕ/¬ೈō ®ೇō  

 (2) ಅĦ §ಾರ/²ೆĻ ®ೇō  

 (3) ಅ¤ಾರಕ/ಇಂಪĲ�ಯಬş  

 (4) ಅĦ ²ೆě¹ನ ಉಷÂದĹÐ ಬಳ�ೆ 

 

41. �ಾತÎĨಂದ ಒಂದು ಕುÍ.Ĳೕ. 1:2:4 ಪÎ¨ಾಣದ 

�ಾಂĔÎೕō ನĹÐ ದಪÈಕಲುÐಗಳ ಪÎ¨ಾಣ ಇಷು¾ 

ಇರುತÃ¡ೆ 

 (1) 0.94 m3 

 (2) 0.85 m3 

 (3) 0.75 m3 

 (4) 0.65 m3 

42. ಒ­ Ñೆಯ ĪĲ�Ħ ಕĹÐನ ಒ�ೆಯುವ ಶĔÃ 

(ಕÎļಂŅ ±ೆĄಂœ) ಇದĔ´ಂತ �ಾľÃ ಇರ¦ೇಕು 

 (1) 50 ಎಂ.ī.ಎ. 

 (2) 100 ಎಂ.ī.ಎ. 

 (3) 150 ಎಂ.ī.ಎ. 

 (4) 200 ಎಂ.ī.ಎ. 

 

43. ಎ¬ಾÐ ŪೕŤ� ಗಳ� ಒಂ¡ೇ �ಾಗದĹÐ 

±ೇರುವ�ದು ಮತುÃ ಒಂ¡ೇ ಸಮತġ¾ನĹÐ 

(¤ೆÐೕŖ) ಇರುವ�ದ�ೆ´ Ŀೕ�ೆನುÇ�ಾÃªೆ 

 (1) ಸಹವĦ�/ಕŖ ಕªೆಂō  

 (2) ಸಹವĦ�ಯಲÐದ/£ಾŖ-ಕನ´ªೆಂō  

 (3) ಸಹತಲದ/�ೋ¤ೆÐೕನŝ  

 (4) ಸಹತಲದÅಲÐದ/£ಾŖ-�ೋ¤ೆÐೕ£ಾŝ  
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39. In fire proof paints main 

constituent is ______  

 (1) Aluminium powder  

 (2) Red lead 

 (3) Copper powder 

 (4) Asbestos fibres 

 

40. Polymer concrete is used 

specifically when desirable 

concrete is to be ______.   

 (1) Light weight  

 (2) Heavy weight 

 (3) Impermeable 

 (4) Used under high temperature 

 

41. To make 1 cu.m of 1 : 2 : 4 

concrete by volume, the coarse 

aggregate volume required is 

_______  

 (1) 0.94 m3 

 (2) 0.85 m3 

 (3) 0.75 m3 

 (4) 0.65 m3 

42. Crushing strength of a good 

building stone should be more 

than _______  

 (1) 50 MPa 

 (2) 100 Mpa 

 (3) 150 MPa 

 (4) 200 MPa 

 

43. All forces meeting at a point and 

lying in the same plane are 

______  

 (1) Concurrent  

 (2) Non-concurrent 

 (3) Coplanar 

 (4) Non-coplanar 
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44. ಈ ¥ಾÍಕ¾ŝ ĳೕ¬ೆ �ಾಂĔÎೕġನ ಶĔÃ 

ಅವಲಂİತ®ಾĖ¡ೆ ? 

 (1) Īೕರು ľĳಂō ಅನು¤ಾತ 

 (2) ľĳಂō ನ ಗġ¾ತನ  

 (3) ľĳಂġನ ನುಣುಪ�ತನ 

 (4) �ಾ©ಾ�ತÌಕ�ೆ 

 

45. 5100 ²ೆ�ೆ¾ೕŝ ನĹÐನ ¦ೆ­ೆ�ೆ 3 cumecs Īೕರು 

¦ೇ�ಾದªೆ ಇĸÎ�ೇಶŖ ನ ®ಾಟŝ ಡೂÍġ 

(ĔÎ©ಾ ±ಾಮಥÍ�) ಎಷು¾ ? 

 (1) 15300 

 (2) 5100 

 (3) 1700 

 (4) 3 

46. ±ಾ¨ಾನÍ®ಾĖ ಮĥÂನĹÐ ©ಾವ ವĖೕ�ಕರಣ 

ļೕĽ��ೆಯĹÐ Īೕರು �ಾಣľಗುತÃ¡ೆ ? 

 (1) ²ೈ�ೊÎೕ±ೊ´ೕīŃ Īೕರು 

 (2) ĳೕ¬ೆĊ/ಸ¥ೇ�Ť Īೕರು 

 (3) ¬ೋಮ/�ೆīಲÐĸ Īೕರು 

 (4) �ೇಂ¡ಾÎಪ�ಾĲ/±ೆಂġÎĮÍಗş Īೕರು 

 

47. ಇವ�ಗಳĹÐ ©ಾವ�ದು ಕುľಯಬಹು¡ಾದ ಮĥÂ�ೆ 

(�ೊ¬ಾÐīÕಬşÕ ±ಾĵş) ಉ¡ಾಹರ�ೆ 

 (1) ಕಪ�È ಹĦÃ  

 (2) ಜĹÐ  

 (3) ĳಕ´ಲು   

 (4) ಕಲುÐಪ�È  
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44. Which is the factor on which 

strength of concrete depends ?  

 (1) Water cement ratio  

 (2) Hardness of cement 

 (3) Fineness of cement 

 (4) Workability 

 

45. What shall be the duty of 

irrigation water if 3 cumecs of 

water supply is required for a crop 

sown in area of 5100 hectares ?  

 (1) 15300 

 (2) 5100 

 (3) 1700 

 (4) 3 

46. What classification head for water 

present in soil is normally found ?  

 (1) Hydroscopic water  

 (2) Surface water 

 (3) Capillary water 

 (4) Centrifugal water 

 

47. Which of the following is an 

example of collapsible soils ?  

 (1) Black cotton 

 (2) Gravel 

 (3) Loess 

 (4) Halite 
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48. ľĳಂō ನĹÐರುವ ಈ ĲಶÎಣ, ಇದರ ಶĔÃ�ೆ 

ಎರಡು-ಮೂರು ವಷ�ದ ನಂತರ 

�ಾರಣ®ಾಗುತÃ¡ೆ 

 (1) �ೆČ �ಾÍĹÕಯಂ ľĹ�ೇō  

 (2) �ೈ �ಾÍĹÕಯಂ ľĹ�ೇō 

 (3) �ೆČ �ಾÍĹÕಯಂ ಅಲುÍĲ£ೇō  

 (4) �ೆ�ಾÎ �ಾÍĹÕಯಂ ¥ೆªೈō  

 

49. İĺಯ ľೕಸವನುÇ (®ೈō ¬ೆŏ ¦ೇŤ) 

ಆಧĸľದ ಬಣÂಗಳ� ಈ ಬಣÂ ಬĺಯುವ �ೆಲಸ�ೆ´ 

ಸೂಕÃ 

 (1) ಮರ�ೆಲಸ�ೆ´ 

 (2) ಕİÊಣದ �ೆಲಸ 

 (3) ಮರ ಮತುÃ ಕİÊಣದ �ೆಲಸಗ­ೆರಡೂ 

 (4) ಇವ�ಗಳĹÐ ©ಾವ�ದೂ ಅಲÐ 

50. ľĳಂō ²ೈ�ೆÎೕಷŖ ನ ಪÎಮುಖ ಉತÈನÇ-ದĹÐ 

ಉಂ�ಾಗುವ ಬಲ�ೆ´ �ಾರಣ®ಾĖರುವ ವಸುÃ 

 (1) �ಾÍĹÕಯಂ ²ೈ�ಾÎ�ೆÕೖŏ 

 (2) ĝಪÕಂ 

 (3) �ಾÍĹÕಯಂ �ೊÐೕªೈŏ 

 (4) ľ.ಎŤ. ²ೆň.  

 

51. ಅಧ�Ŗ ®ೇŝ (ಮĥÂನ ಪ¡ಾಥ�) Īಂದ 

¨ಾģರುವ ಆಕೃĦಯನುÇ ±ಾ¨ಾನÍ®ಾĖ 

_____ ಎಂದು ಕªೆಯಬಹುದು. 

 (1) �ೆªಾÎ�ೊ�ಾ 

 (2) ಸುಟ¾ ಮರಳ� 

 (3) ಅĖÎ�ೇō  

 (4) ಪ­ೆಯುĺ�ೆ 
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48. The compound of cement which 

contributes to strength after two to 

three years _______ 

 (1) Tri Calcium silicate  

 (2) Di Calcium silicate 

 (3) Tri Calcium aluminate 

 (4) Tetra Calcium ferrite  

 

49. Paints with white lead base are 

suitable for painting of ______  

 (1) wood work  

 (2) iron work 

 (3) both wood and iron work 

 (4) None of these  

50. Salient product of hydration in 

cement responsible for strength is 

_______  

 (1) Calcium hydroxide  

 (2) Gypsum 

 (3) Calcium chloride 

 (4) CSH 

 

51. The usual name given to sculpture 

made by earthen ware using baked 

earth is  

 (1) Terracotta 

 (2) burnt sand 

 (3) aggregate  

 (4) fossil 



126  (24 - A) 

52. ಅಂಟು-ಅಂಟು ಆĖರುವ, ಕ¤ಾÈದ ಮತುÃ 

ಅĦ©ಾದ ľÇಗÆ ದÎವ ಅಥ®ಾ ಅಧ� ಘನ 

ಪ¡ಾಥ�®ಾĖರುವ ¤ೆ�ೊÎೕĹಯಂ 

ಉತÈನÇವನುÇ _____ ಎಂದು ಕªೆಯು�ಾÃªೆ. 

 (1) ĳಟş ¤ೇŤ¾  

 (2) ĳರು�ೆ�ೆÂ / ®ಾĪ�ţ  

 (3) ģ±ೆ¾ಂಪŝ  

 (4) �ಾಂಬರು / ಅ±ಾÉş¾  

 

53. ಒಂದು ħŴೕ�ೋ¬ೈō �ೆ (ūೕಜĥ 

�ೋನ¨ಾಪಕ�ೆ´) ±ೆ¾ೕģಯ ಡಯಫÎಂ (Ūªೆ 

ಫಲಕ) ಮತುÃ ಅನಲġŃ (Ļ¯ೆÐೕಷಕ) ಮಸೂರ 

ಅಳವģľದªೆ ಅದನುÇ _____ ಆĖ 

ಬಳಸಬಹುದು. 

 (1) ಒ�ಾ¾ªೆ ±ಾÄĵ / �ೋಟş ±ೆ¾ೕಷŖ  

 (2) ಇ.ģ.ಎಂ. 

 (3) ಎ¬ೆ�ಾĄĪŃ ħŴೕ�ೋ¬ೈō  

 (4) �ಾÍ�ೋ Ĳೕಟŝ  

54. ಒಂದು ಸರಳ ವತು�ಲ ĦರುĻನĹÐ (ľಂಪş 

ಸಕೂÍ�ಲŝ ಕš�), R ĦÎಜÍ,  T ಸÈಶ�ಕದ  

ಉದÅ ಮತುÃ θ ¦ಾĖದ (ģ¥ೆÐčŖ) �ೋನ ಆದªೆ, 

T = _____. 

 (1) R tan(θ/2) 

 (2) 2Rtanθ 

 (3) Rtan2θ 

 (4) R2tanθ 

 

55. ಒಂದು ಉĔ´ನ ¦ಾŝ 4m ಉದÅ, 30 mm 

ಅಗಲ, 20 mm ದಪÈ ಇ¡ಾÅಗ ಅದ�ೆ´ 30 kN 

ಆĔÕಯş ಪ�ş/¬ೋŏ ನುÇ ಅದರ ಉದÅದ 

ĨĔ´ನĹÐ ²ಾĔ¡ಾಗ ಅದರ ¦ಾŝ ವಸುÃĻನ 

¨ಾಡೂÍಲŤ ľÄĦ ±ಾÄಪಕ�ೆಯು 

 E = 2 × 105 N/mm2 , ¤ಾಯಸŖÕ 

ಅನು¤ಾತ = 0.3 ¤ಾಶÒ� Ħರುಚು _____. 

 (1) 0.000432 

 (2) 0.000162 

 (3) 0 

 (4) 0.000075 
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52. A sticky, black and highly viscous 

liquid or semi-solid form of 

petroleum is termed as _______  

 (1) metal paste 

 (2) varnish 

 (3) distemper 

 (4) asphalt 

 

53. If a theodolite is fitted with stadia 

diaphragm and analactic lens, it 

can be used as _______  

 (1) Total station  

 (2) EDM 

 (3) Electronic theodolite 

 (4) Tacheometer 

54. In a simple circular curve, if R is 

the radius, T is the tangent length 

and θ is the deflection angle, then 

T = _______.  

 (1) R tan(θ/2) 

 (2) 2Rtanθ 

 (3) Rtan2θ 

 (4) R2tanθ 

 

55. A steel bar is 4 m long, 30 mm 

wide, 20 mm thick is subjected         

to an axial pull of 30 kN in        

the direction of its length.           

Given modulus of elasticity         

of the material of the bar as           

2 × 105 N/mm2, Poisson’s ratio is 

0.3. The lateral strain is _______.  

 (1) 0.000432 

 (2) 0.000162 

 (3) 0 

 (4) 0.000075 
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56. 40 mm ®ಾÍಸ ಇರುವ ಕİÊಣದ ಸ¬ಾ�ೆಯĹÐ,  

5 m ಉದÅ 47.476 N/mm2 ±ೆĄೕŤ ಇರುತÃ¡ೆ. 

ಅದ�ೆ´ �ಾÎಜುಯş ūೕŏ �ೊ�ಾ¾ಗ ಆ 

ಸರĺĪಂದ Ŀೕĸ�ೊಳÑ¬ಾದ Ħರುಚು ಶĔÃಯು 

ಇದ�ೆ´ ಸಮ _____. N-m �ೊġ¾ರುವ ಸರĺನ 

ವಸುÃĻನ ¨ಾಡೂÍಲŤ ľÄĦ±ಾÄಪಕತÒವ� 2 × 

105 N/mm2  

 (1) 35.81 

 (2) 19.76 

 (3) 12.9 

 (4) 55.43 

 

57. ತುಂ¦ಾ ಸಣÂ ಪ�ಣ�®ಾĖಲÐದ ಒರಟು Ūೕō� 

¬ಾÍಂŏ ľĳಂō ¤ಾÐಸ¾ŝ ನುÇ ಕಲುÐ �ೋ�ೆ 

ĳೕ¬ೆ ಬĺ¡ಾಗ ಅದನುÇ ±ಾ¨ಾನÍ®ಾĖ 

_____ ಎಂದು ಕªೆಯಬಹುದು. 

 (1) ¤ಾĝ�ಂŅ  

 (2) ಬಣÂ ಬĺಯುĻ�ೆ/ģ±ೆ¾ಂಪĸಂŅ  

 (3) ¤ೈಂġಂŅ (ಬಣÂ ಬĺಯುĻ�ೆ) 

 (4) �ೆÎľÕಂŅ  

58. _____ ĭġಂŅ (ಆ¢ಾರ) ನĹÐ ಕಂಬ ಮತುÃ 

�ೋ�ೆಗಳ� ಒಂದು ¡ೊಡÀ ದಪÈ ಬಲವĩ�ದ 

�ಾಂĔÎೕō ±ಾÐř (ಫಲಕದ) ĳೕ¬ೆ 

ಕೂĦರುತÃ®ೆ. 

 (1) ¤ೈş  

 (2) �ೆªೆದ 

 (3) ĖÎ¬ೇŊ 

 (4) ¨ಾÍō  

 

59. §ಾರತದĹÐ RCC �ಾಂĔÎೕō ĲŃÕ ģ±ೈŖ 

¨ಾಡುವ�ದ�ೆ´ IS _____ �ೋŏ ನುÇ 

ಉಪŴೕĖಸು�ಾÃªೆ. 

 (1) 10262 

 (2) 456 

 (3) 373 

 (4) 800 
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56. A rod of 40 mm diameter, 5 m 

long is stressed with 47.476 

N/mm2 is subjected to a gradual 

tensile load. Strain energy 

absorbed by the rod is equal to 

_______ N-m. Given modulus of 

elasticity of the material of the bar 

as  

2 × 105 N/mm2.  

 (1) 35.81 

 (2) 19.76 

 (3) 12.9 

 (4) 55.43 

 

57. A thin, rough (unfinished) coat of 

portland cement plaster on a 

masonry wall is generally called 

as _______  

 (1) Parging 

 (2) Distempering 

 (3) Painting 

 (4) Dressing 

58. In case of _______ footing, 

columns and walls of a building 

bear on one  large, thick 

reinforced concrete slab.  

 (1) pile 

 (2) open 

 (3) grillage 

 (4) mat 

 

59. In India, concrete mix design for 

RCC is carried out using IS 

_______ code.  

 (1) 10262 

 (2) 456 

 (3) 373 

 (4) 800 
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60. ಆಯ�ಾ�ಾರದ ಮತುÃ ವೃ�ಾÃ�ಾರದ 

ಕಂಬಗಳĹÐ ಕĪಷ¾ ಸರಳ�ಗಳ ಸಂ�ೆÍ ಕÎಮ®ಾĖ 

____ & ____. 

 (1) 6 & 6 

 (2) 4 & 4  

 (3) 4 & 6 

 (4) 6 & 4 

 

61. ಕುĨಯುವ İಂದುĻĖಂತ �ೆಳ�ೆ, ¯ಾಖದ 

ವ�ಾ�ವ�ೆĵಂದ, ಉಂ�ಾದ ĔÎĶಯĹÐ ದÎವವ� 

ĳೕ¬ೆĊಯĹÐ ಅĪಲ ľÄĦ�ೆ ಬದ¬ಾಗುವ 

ಪÎĔÎĶಯನುÇ  _____ ಎನುÇ�ಾÃªೆ. 

 (1) ಕುĨಯುĻ�ೆ / ¦ಾĵÐಂŅ  

 (2) §ಾĽÈೕಕರಣ / ಎ®ಾಪªೇಷŖ 

 (3) ರŖ ಆŘ  

 (4) ಚರಂģ / �ೆČ£ೇŊ  

62. ಒಂದು ಜ¬ಾಶಯದ Īೕĸನ ಸಂಗÎಹ 400 

ĲĹಯŖ ಕುÍİŃ Ĳೕಟŝ. ಇದು 40000 

²ೆ�ೆ¾ೕŝ ಪÎ¡ೇಶ�ೆ´ 1 ವಷ��ೆ´ 2 ĬĹÐಂŅ ನĹÐ 

Īೕªಾವĸ �ೊಡುತÃ¡ೆ. �ಾÎŗ ľೕಜŖ 125 

Ĩನಗ­ಾದªೆ ಡೂÍġಯು _____ ²ೆ/m3.  

 (1) 440 

 (2) 540 

 (3) 940 

 (4) 1040 

 

63. [OH--] ಅ©ಾನುಗಳ ±ಾಂದÎ�ೆ 0.008 

ಇರು®ಾಗ, ಆ Īೕĸನ ¡ಾÎವಣದ pH = _____. 

 (1) 5.4 

 (2) 7.1 

 (3) 9.0 

 (4) 11.9 
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60. The minimum number of bars to 

be provided in case of rectangle 

and circular columns are ______ 

respectively.  

 (1) 6 and 6 

 (2) 4 and 4 

 (3) 4 and 6 

 (4) 6 and 4 

 

61. The process in which liquid 

changes to gaseous state at the 

surface, below the boiling point 

due to the transfer of heat is 

known as ________  

 (1) Boiling 

 (2) Evaporation  

 (3) Run off 

 (4) Drainage 

62. A reservoir with live storage of 

400 million cubic meters of water 

is available to irrigate an area of 

40,000 hectares with 2 fillings in a 

year. If the crop season is 125 

days. The duty is _______ 

hectares/cubic meter.  

 (1) 440 

 (2) 540 

 (3) 940 

 (4) 1040 

 

63. pH of water solution having 

concentration of [OH--] ions of 

0.008 is ______.  

 (1) 5.4 

 (2) 7.1 

 (3) 9.0 

 (4) 11.9 



126  (30 - A) 

64. ĪೕರನುÇ �ಾÎನುÍ¬ಾŝ ಮġೕĸಯş (ಮರಳ�) 

ನĹÐ ಹĸಸುವ Ļ¢ಾನವನುÇ _____ ಎಂದು 

ಕªೆಯಬಹುದು. 

 (1) ±ೆģĳಂ�ೇಷŖ  

 (2) Ĭ¬ೆĄೕಷŖ  

 (3) ľ´òೕĪಂŅ  

 (4) ģŤ ಇŖ ¥ೆčŖ  

 

65. ಟೂ¬ೈŖ ರ±ೆÃಯĹÐ ಒಂದು ®ಾಹನ 50 Kmph 

®ೇಗದĹÐ ಚĹಸು®ಾಗ ±ಾ¾īಂŅ ±ೈō 

ģ±ೆ¾ŖÕ _____ m. �ಾಲಕನ ಪÎĦĔÎĶಯ 

ಸಮಯ 2.3 sec. �ೋಎĬľĶಂō ಆŘ 

¬ಾಂĖಟುÍģನş īÎčŖ (ಘಷ��ೆ) 0.38.  

 (1) 57.87 

 (2) 35.65 

 (3) 48.32 

 (4) 12.43 

66. Ĭ¬ೆō ®ೆşÀ ನ �ಾತÎ 6 mm, ²ಾ�ಾದªೆ 

 ೊÎೕō ħಕನŤ = _____ mm.   

 (1) 4.2 

 (2) 8.57 

 (3) 3.1 

 (4) 1 

 

67. ಒಂದು Ĕ.Ĳೕ. ಉದÅದ ರ±ೆÃಯĹÐ ĳೕ¬ೆĊಯ  

ಕುಮು¬ೇġš ವġ�ಕş ಅಂಡು¬ೇಷŖ 

¡ಾಖ¬ಾĖರುವ�ದನುÇ _____ ಎನುÇ�ಾÃªೆ. 

 (1) ŪÎ¥ೈş  

 (2) �ಾÎŤ ±ೆčŖ  

 (3) ಅŖ ಈವ£ೆÇŤ ಇಂ�ೆŃÕ  

 (4) ಅ¬ೈŖ ĳಂō  
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64. The process of passing the settled 

water through the beds of granular 

material is termed as _______.  

 (1) sedimentation  

 (2) filtration   

 (3) screening 

 (4) disinfection 

 

65. The stopping sight distance of a 

vehicle moving with a speed of  

50 kmph in a two lane road is 

_______ m if the reaction time of 

driver is 2.3 sec and coefficient of 

longitudinal friction is 0.38.    

 (1) 57.87 

 (2) 35.65 

 (3) 48.32 

 (4) 12.43 

66. If the size of the fillet weld is        

6 mm, then the throat thickness        

is = _____ mm.    

 (1) 4.2 

 (2) 8.57 

 (3) 3.1 

 (4) 1 

 

67. The cumulative vertical 

undulations of the surface 

recorded per km of the road is 

called as _________  

 (1) profile   

 (2) cross section 

 (3) unevenness index 

 (4) alignment 



126  (32 - A) 

68. ¦ಾÎ�ೆō ಕ£ೆčŖ Ļ£ಾÍಸದĹÐ ತುಂ¦ಾ 

ಮುಖÍ®ಾದ ಅಂಶ _____. 

 (1) ¬ೋŏ ¨ಾತÎ 

 (2) ¬ೋŏ ಮತುÃ ಎ±ೆಂġÎľġ 

 (3) ಎ±ೆಂġÎľġ ¨ಾತÎ 

 (4) ľĄೕş ನ ಗುಣ ¨ಾತÎ 

 

69. ಒಂದು ISA 100 × 75 × 8 ¬ಾಂಗŝ ¬ೆŅ 

²ೊಂĨರುವ �ೈ ĳಂಬŝ ಗ±ೆō ¤ೆÐೕō �ೆ 

�ೋಡ�ೆ ¨ಾಡ¬ಾĖ¡ೆ. �ಾÎŤ �ಾÎŤ ±ೆčನş 

ಏĸ©ಾ ಕ£ೆಕ¾ŏ  & ಅŖ ಕ£ೆಕ¾ŏ ¬ೆŅ 

ಗಳದು ಕÎಮ®ಾĖ _____ & _____ mm2.  

 (1) 768 ಮತುÃ 568 

 (2) 344 ಮತುÃ 288 

 (3) 976 ಮತುÃ 654 

 (4) 1206 ಮತುÃ 743 

70. ľ¾ೕş İೕಂ ನ ಪĲ�ľಬş ģ¥ೆÐčŖ ಅದರ 

±ಾÈŖ = 4m & _____ mm. IS 800-2009 

ಪÎ�ಾರ 

 (1) 16 

 (2) 20 

 (3) 23 

 (4) 29 

 

71. �ಾÎī�ಾÍ�ಾರದ ĸೕ�ೈĪಂŅ �ೋ�ೆಯ 

ĳೕĹನ ಅಗಲ a, ತಳದ ಅಗಲ b, ಎತÃರ h 

ಆದªೆ, ಅದರ ಸಮತಲ®ಾĖರುವ ±ೆಂ�ಾÎಯÀş 

ದೂರ ವġ�ಕş ¥ೇŤ Īಂದ _____. 

 (1) a + b2   

 (2) b + a2 

 (3) (a + b)/2 

 (4) 
)b+a(3
ab+b+a 22
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68. In the design of bracket 

connection, ________ is the 

salient factor in the design.   

 (1) Load alone  

 (2) Load and eccentricity 

 (3) Eccentricity only 

 (4) Property of steel only 

 

69. A tie member consists of ISA  

100 × 75 × 8 longer leg is 

connected to a gusset plate. The 

gross cross sectional area of 

connected and unconnected leg 

are _______ mm2 respectively.  

 (1) 768 and 568  

 (2) 344 and 288 

 (3) 976 and 654 

 (4) 1206 and 743 

70. Permissible deflection of a steel 

beam whose span is 4 m is 

_______ mm as per IS800-2009.   

 (1) 16 

 (2) 20  

 (3) 23 

 (4) 29 

 

71. A trapezoidal section of a 

retaining wall have top width a 

and bottom width b have height h. 

The horizontal centroidal distance 

of the section from the vertical 

face is ________.  

 (1) a + b2   

 (2) b + a2 

 (3) (a + b)/2 

 (4) 
)b+a(3
ab+b+a 22
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72. ಕಟ¾ಡ ಕಟು¾ವ ±ೈō ನĹÐ ±ಾ¾Ń ¬ೆವş ನ 

ಚಲನವನುÇ ¡ಾಖ¬ಾĦಯನುÇ ಗು¡ಾĲನĹÐ 

�ಾ¤ಾಡುವ Ļ¢ಾನವನುÇ _____ ಎನುÇ�ೆÃೕ®ೆ. 

 (1) ಇŖ ®ಾŜÕ  

 (2) ಪ�ೇ�Ť ಆಡ�ŝ  

 (3) İŖ �ಾŏ�  

 (4) �ೇō ¤ಾŤ  

 

73. ģ±ೆ¾ŖÕ Ĳೕಟŝ £ೊಂĨ�ೆ ಎ¬ೆ�ಾĄĪŃ 

�ಾÎĪÕō ħŴೕ�ೋ¬ೈōÕ ನ ಸಂಗಮದ 

ಇರುವ ದೂರವನುÇ ©ಾವ�¡ಾದರೂ ಒಂದು 

ĪĨ�ಷ¾ �ಾಗĨಂದ ಅ­ೆಯುವ ±ಾಧನವನುÇ 

_____ ಎನುÇ�ಾÃªೆ.  

 (1) ಇģಎಂ 

 (2) �ಾÍ�ೋĲೕಟŝ  

 (3) �ೋಟş ±ೆ¾ೕಷŖ  

 (4) ¦ಾªೋĲೕಟŝ  

74. ಎ¬ಾÐ Ļಧದ �ಾಗ�ೆ´ ಸಂಬಂĩľದ ಅಥ®ಾ 

§ೌ�ೋĺಕ ಅಂĔ ಸಂ�ೆÍಗಳನುÇ �ೌಶಲÍĨಂದ 

±ೆªೆĿģದು, ಸಂಗÎĿľ Ļ¯ೆÐೕĽľ, Īವ�Ŀľ 

ಪÎಸುÃತಪģಸಬಹು¡ಾದ Ļ¢ಾನವನುÇ _____ 

ಎನುÇ�ಾÃªೆ. 

 (1) ĝīಎŤ  

 (2) ĝಐಎŤ  

 (3) ĝİಎŤ  

 (4) ĝಎŤ ಎŤ  

 

75. ¡ೊಡÀ ಕಟ¾ಡಗಳ Ī¨ಾ�ಣದĹÐ ಅĦ ಎತÃರ�ೆ´ 

�ಾಂĔÎೕಟನುÇ ±ಾĖಸಲು ಉಪŴೕĖಸುವ 

Ļ¢ಾನ _____. 

 (1) ľ´ŗ ಅಂŏ ²ೊŜÕâ 

 (2) ಟÎŃ ĲಕÕŝ ಮತುÃ ಡಂಪŝ  

 (3) Ļೕş ¦ಾªƐ 

 (4) ¨ಾÍನುÍş �ಾÍĸĵಂŅ  
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72. Which of the following is 

maintained at the store in 

construction site to record the 

movements of the stock level of 

all the items ?  

 (1) invoice  

 (2) purchase order 

 (3) bin card 

 (4) gate pass 

 

73. Electronic transit theodolites in 

conjunction with a distance meter 

to read any slope distance from 

the instrument to any particular 

spot can be a _______  

 (1) EDM  

 (2) Tachometer 

 (3) Total station 

 (4) Barometer 

74. A system designed to capture, 

store, manipulate, analyze, 

manage, and present all types of 

spatial or geographical data can be 

called as _____.  

 (1) GPS  

 (2) GIS 

 (3) GBS 

 (4) GSS 

 

75. Which of the following methods 

used in transporting fresh concrete 

in high rise structures ?  

 (1) skip and hoist  

 (2) truck mixer and dumper 

 (3) wheel barrow 

 (4) manual carrying 
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76. ಒಂದು İೕಂ ನ ¦ಾಗುĻ�ೆಯು ಒಂ¡ೇ ūತÃದ 

¦ೆಂģಂŅ ūĳಂō ಮತುÃ ಶ�ನÍ Ľಯŝ 

ಬಲ ಇರುವ�ದನುÇ _____ ಎನುÇ�ಾÃªೆ. 

 (1) Ľಯŝ  

 (2) �ಾಷ�Ŗ  

 (3) ūĳಂō  

 (4) ಪ�Íŝ ¦ೆಂģಂŅ  

 

77. ಇವ�ಗಳĹÐ ©ಾವ ²ೇĺ�ೆ ಸĸ 

 (1) ಒಂದು ¬ೋಹದ ¤ಾಯಸŖÕ ಅನು¤ಾತ 

1.2 

 (2) ±ೆĄŖ ಯೂĪō mm (Ĳ.Ĳೕ) 

 (3) ¤ಾÎಡŃ¾ ಆŘ ¨ಾಡುಲŤ ಆŘ 

ಎ¬ೆľ¾ľġ ಮತುÃ MI ¥ೆÐಕು¹ರş ĸĝģġ 

 (4) ಸುರďೆ�ೆ ಸಂಬಂĩľದಂ�ೆ ¥ಾÍಕ¾ŝ ಆŘ 

±ೇĬ¾ ಒಂದĔ´ಂತ ಕģĳ 

78. £ೈಸĖ�ಕ ಬಂ�ೆಗĺಂದ ĻĻಧ ±ೈĝನ 

ಕಲುÐಗಳನುÇ ²ೊರ�ೆ�ೆವ ಪÎĔÎĶಯ ²ೆಸರು 

 (1) �ೆÎľಂŅ  

 (2) ľೕಸĪಂŅ 

 (3) �ಾÒĸĵಂŅ  

 (4) ಇವ�ಗಳĹÐ ©ಾವ�ವ� ಅಲÐ 

 

79. �ಾÒĸ ¨ಾģದ ಕĹÐ�ೆ ಖěತ ²ಾಗೂ Īಯತ 

ಆ�ಾರ �ೊಡುĻ�ೆಯ ಪÎĔÎĶಯು 

 (1) īěಂŅ  

 (2) �ೆÎľಂŅ  

 (3) ľೕಸĪಂŅ  

 (4) �ಾÒĸೕĵಂŅ  

 

80. �ಾªೆಯ ದಪÈವ� ±ೇĸದಂ�ೆ ¨ಾಡುÍಲŝ İÎŃ 

ನ ļಷ¾ ±ೈಜು 

 (1) 23 × 12 × 8 cm3  

 (2) 19 × 20 × 19 cm3 

 (3) 20 × 20 × 10 cm3 

 (4) 18 × 9 × 9 cm3 
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76. Flexure of a beam under constant 

bending moment, with zero shear 

force is known as _____  

 (1) Shear  

 (2) torsion 

 (3) moment 

 (4) pure bending 

 

77. Which of the following statements 

is true ?  

 (1) Poisson’s ratio of a metal is 

1.2.  

 (2) Unit of strain is mm. 

 (3) Product of modulus of 

elasticity and MI is flexural 

rigidity. 

 (4) For safety, factor of safety is 

less than 1. 

78. The process of taking out stones 

of various sizes from natural rocks 

is known as  

 (1) Dressing 

 (2) Seasoning 

 (3) Quarrying 

 (4) None of these 

 

79. The process of giving definite and 

regular shape to quarried stone is 

called  

 (1) Pitching 

 (2) Dressing 

 (3) Seasoning 

 (4) Quarrying 

 

80. The standard size of modular 

brick including mortar thickness is  

 (1) 23 × 12 × 8 cm3  

 (2) 19 × 20 × 19 cm3 

 (3) 20 × 20 × 10 cm3 

 (4) 18 × 9 × 9 cm3 
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81. ľĳಂġ�ೆ ĝಪÕś ±ೇಪ��ೆ ¨ಾಡಲು �ಾರಣ 

 (1) ¤ಾÎರಂıಕ ಆದÎ�ನ ಸಮಯ ²ೆě¹ಸಲು 

 (2) ¤ಾÎರಂıಕ ಆದÎ�ನ ಸಮಯ ತĖ¶ಸಲು 

 (3) ಸಂīೕಡನ ±ಾಮಥÍ� ²ೆě¹ಸಲು 

 (4) ಬಂĩ (¦ಾಂŏ) ±ಾಮಥÍ� ²ೆě¹ಸಲು 

 

82. ಮರದ ವŴೕ¨ಾನವನುÇ Īಧ�ĸಸುವ�ದು 

ಇದĸಂದ 

 (1) ĳಡೂÍಲĸ Ĕರಣಗಳ� 

 (2) ಮರದ ಎತÃರ 

 (3) ಆನುÍಲŝ ಉಂಗುರಗಳ� 

 (4) �ಾÍಂİಯಂ ಪದರ 

 

83. Ĺ �ಾ�ೆĹಯŤ� ಉಪಕರಣವ� ಇದ�ೆ´ ಉಪಯುಕÃ  

 (1) ľĳಂġನ ಏಕರೂಪ�ೆ ಪĸೕďೆ 

 (2) ľĳಂġನ ದೃಢ�ೆ ಪĸೕďೆ 

 (3) ಸಂīೕಡ£ಾ ±ಾಮಥÍ� 

 (4) ĿĖ¶ಸುವ/�ೆ£ೆÕೖş ±ಾಮಥÍ� 

84. ¤ೆÐೖವ�ŏ ನುÇ ಇದĸಂದ ಸĲೕಕĸಸಬಹುದು 

 (1) �ಾತÎ 

 (2) ತೂಕ 

 (3) ದಪÈ 

 (4) ĻľÃೕಣ� 

 

85. ಸಮತ�ಾ¾ದ ²ಾಗೂ ಲಂಬ �ೋನ ¨ಾಪನ 

¨ಾಡಲು ಉಪŴೕĖಸುವ ಸĲೕďಾ 

ಉಪಕರಣ 

 (1) ಡಂī¬ೆ®ೆş  

 (2) ħŴ�ೋ¬ೈō 

 (3) īÎ±ಾÌġŃ ಕಂ¤ಾŤ  

 (4) ಸĲೕčಕರ ಕಂ¤ಾŤ  

 

86. ©ಾವ�¡ೇ ±ೆ¾ೕಷŖ ನĹÐ ಸಮತಲ ವಲಯವನುÇ 

ಆದÎ��ೊĺľದ ĳೕ¬ೆ (±ೆġಂŅ ಅŗ) ನಂತರ 

ūದಲ �ಾ�ಾ´Ĺಕ ²ೊಂ¡ಾĥ�ೆಯನುÇ, 

¨ಾಡುವಂತಹುದು 

 (1) ಓĸĶಂ�ೇಷŖ  

 (2) ±ೆಂಟĸಂŅ  

 (3) ¬ೆವĹಂŅ  

 (4) ±ೈġಂŅ  
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81. Gypsum is added in cement to  

 (1) Increase its initial setting 

time  

 (2) Decrease its initial setting 

time 

 (3) Increase its compressive 

strength 

 (4) Increase its bond strength 

 

82. The age of a tree can be 

determined from  

 (1) Medullary rays  

 (2) Height of tree 

 (3) Annular rings 

 (4) Cambium layer 

 

83. Le Chatelier’s apparatus is used to 

carry out   

 (1) Consistency test of cement  

 (2) Soundness test of cement 

 (3) Compressive strength 

 (4) Tensile strength 

84. Plywood is identified by  

 (1) Volume  

 (2) Weight 

 (3) Thickness 

 (4) Area 

 

85. The survey instrument which is 

used to measure horizontal and 

vertical angles  

 (1) Dumpy level  

 (2) Theodolite 

 (3) Prismatic compass 

 (4) Surveyors compass 

 

86. The first temporary adjustment to 

be done after setting up the plane 

table at any station will be  

 (1) Orientation  

 (2) Centering 

 (3) Levelling 

 (4) Sighting 
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87. ಸಮಉನÇĦಯ İಂದುಗಳನುÇ ±ೇĸಸುವ 

�ಾಲÈĪಕ ªೇ�ೆಯ ²ೆಸರು  

 (1) ಐ±ೋ¦ಾŝ  

 (2) �ಾಂಟೂŤ�  

 (3) ಎĹ®ೇಟŤ�  

 (4) ಇವ�ಗಳĹÐ ©ಾವ�ವ� ಅಲÐ 

 

88. ²ಾĸಜªೇ�ೆಗಳನುÇ ²ೆ¡ಾÅĸಗಳĹÐ Īೕಡುವ�ದು 

ಇದ£ೊÇದĖಸಲು  

 (1) ®ಾಹನಗಳ ಅĩಕ ®ೇಗ 

 (2) ®ಾಹನಗಳ ®ೇಗ Īಬ�ಂಧ 

 (3) ಇಳ�ಕಲು ಕÎĳೕಣ ಬದ¬ಾವ�ೆ 

 (4) ĨĔ´ನ ಕÎĳೕಣ ಬದ¬ಾವ�ೆ 

 

89. ²ೆ¡ಾÅĸಗಳ ĳೕಲು ಅಂಚನುÇ ಒಳಅಂě�ೆ  

ಸಂಬಂĩľದಂ�ೆ �ೊಂಚ ಎತÃĸľದªೆ ಇದರ 

²ೆಸರು 

 (1) ಎĹ®ೇಟŝ ಗಳ� 

 (2) ®ೇಗ ತ�ೆಗಳ� 

 (3) ಅĩಉನÇĦ (ಸೂಪŝ ಎĹ®ೇಷŖ) 

 (4) ಏĸ�ೆಗಳ� 

90. £ೆಲಗಳ�, ಅಡು�ೆ ಮ£ೆ ಮತುÃ 

±ಾÇನಗೃಹಗಳĹÐನ ĪೕರನುÇ ಸಂಗÎĿಸುವ 

£ೆಲ�ಾಲವನುÇ Ŀೕ�ೆನುÇವರು. 

 (1) ಗĹÐ �ಾಲ 

 (2) ನĿÇ �ಾಲ 

 (3) ಇಂಟŝ ±ೆī¾ಂŅ �ಾಲ 

 (4) ಎŤ.  �ಾಲ 

 

91. ľĳಂġನ ಸಂīೕಡನ ±ಾಮಥÍ� Īವ�Ŀಸಲು 

�ಾªೆ ಘನವನುÇ ತ©ಾĸಸಲು ²ಾಕುವ Īೕĸನ 

ತೂಕ  

 (1) 3+
4
p

 

 (2) 3+
2
p  

 (3) 4+
4
p

 

 (4) 5+
4
p

 
 

92. �ಾಂĔÎೕġನĹÐ ಬಳ�ೆ©ಾಗುವ ಅĖÎ�ೇō ನ  

ಇಂ¤ಾÍŃ¾ ¦ೆ¬ೆಯು ಸ®ೆಯುವ ĳೕ¬ೆĊ ರಚ£ೆ 

¤ೇವĳಂಟುಗಳ� ರ±ೆÃಗಳ� ಮತುÃ 

ಇಳ�ಕಲುಗಳ�- ಇದĔ´ಂತ ಅĩಕ®ಾಗ¦ಾರದು 

 (1) 60% 

 (2) 50% 
 (3) 40% 
 (4) 30% 
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87. Imaginary lines which joins the 

points of equal elevation are 

called  

 (1) Isobar  

 (2) Contours 

 (3) Elevators 

 (4) None of these 

 

88. Horizontal curves on highways 

are provided to give  

 (1) High speed for vehicles  

 (2) Restrict speed of vehicles 

 (3) Gradual change in gradient 

 (4) Gradual change in direction 

 

89. The upper edge of highways are 

slightly elevated with respect to 

inner edge. This is called  

 (1) Elevators  

 (2) Speed breakers 

 (3) Super elevation 

 (4) Risers 

90. A floor trap commonly used to 
collect water from the floors, 
kitchen & bath- rooms is called   

 (1) Gully trap  
 (2) Nahni trap 
 (3) Intercepting trap 
 (4) S-trap 
 
91. The weight of the water to be 

added to prepare the mortar cube 
to conduct compressive strength 
of cement is  

 (1) 3+
4
p

 

 (2) 3+
2
p  

 (3) 4+
4
p

 

 (4) 5+
4
p

 
 
92. The impact value for the 

aggregates used in concrete for the 
construction of wearing surfaces 
such as pavements, roads & 
runways etc. shall not exceed  

 (1) 60% 
 (2) 50% 
 (3) 40% 
 (4) 30% 
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93. ಎŃÕ-ĻĔರಣ (x-ray) �ೊಠģ�ೆ ಸೂಕÃ ¤ಾÐಸ¾ŝ         

ಎಂದªೆ 

 (1) ¤ಾÐಸ¾ŝ ಆŘ ¤ಾÍĸŤ  

 (2) ¦ೇĸಯś ¤ಾÐಸ¾ŝ  

 (3) ľĳಂಟು ¤ಾÐಸ¾ŝ  

 (4) �ಾÎ£ೈಟು ľĹ�ೋŖ ¤ಾÐಸ¾ರು 

 

94. ªಾಂĔŖÕ ಸೂತÎ 
2

sin1
sin1p

⎥
⎦

⎤
⎢
⎣

⎡
φ+
φ−

γ
 ಅನುÇ ಈ 

¬ೆ�ಾ´�ಾರ�ೆ´ ಬಳಸ¬ಾಗುವ�ದು. 

 (1) ಬು£ಾĨಯ ಅಗಲ 

 (2) ಬು£ಾĨಯ ಆಳ 

 (3) ಬು£ಾĨಯ ¢ಾರಣ ±ಾಮಥÍ� 

 (4) ಬು£ಾĨಯ ಬ�ೆ 

95. ľĳಂō ಜĹÐಯ ಕĪಷ¿ ಅಳ�ೆಯು ಸªಾಸĸ 

®ಾÍಸĔ´ಂತ _____ ರಷು¾ ಕģĳ ಇದÅªೆ ľĳಂಟು 

ಜĹÐಯನುÇ ಚ�ೆ´ ಎನÇಬಹುದು.  

 (1) 
5
1   

 (2) 
5
2  

 (3) 
5
3  

 (4) 
5
4  

 

96. �ಾಂĔÎೕō ಘಟಕಗಳನುÇ ಏಕರೂಪ ಅನು¤ಾತದ 

ಸಲು®ಾĖ �ೈ�ೊಳ�Ñವ ಸಮಂಜಸ ²ಾಗೂ 

Īಖರ ¨ಾಪನದ ²ೆಸರು 

 (1) �ೆÎೕģಂŅ  

 (2) ¦ಾÍěಂŅ  

 (3) ĲĔÕಂŅ  

 (4) �ಾÒಟ�ĸಂŅ  
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93. The suitable plaster recommended 

for X-ray room is  

 (1) Plaster of Paris  

 (2) Barium plaster 

 (3) Cement plaster 

 (4) Granite silicone plaster 

 

94. The Rankine’s formula 
2

sin1
sin1p

⎥
⎦

⎤
⎢
⎣

⎡
φ+
φ−

γ
 is used to calculate  

 (1) width of foundation  

 (2) depth of foundation 

 (3) bearing capacity of 

foundation 

 (4) type of foundation 

95. The aggregate is said to be flaky if 

its least dimension is less than 

_______ of the mean diameter.  

 (1) 
5
1   

 (2) 
5
2  

 (3) 
5
3  

 (4) 
5
4  

 

96. The process of proper and 

accurate measurement of concrete 

ingredients for uniformity 

proportion is known as  

 (1) Grading   

 (2) Batching 

 (3) Mixing 

 (4) Quartering 
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97. ಸುರŀತ, ಸಮÌĦಸ¬ಾದ ¬ೋŏ ಒದĖಸಲು 

ಇರುವ ಅವ�ಾಶವ� ūದಲ ದ�ೆ�ಯ ಇġ¾�ೆ 

�ೆಲಸ C:M �ೆ ಸಂಬಂĩľದುÅ ಇದ�ೆ´ 

ಸಮ®ಾದುದು 

 (1) 280 2m/kN   

 (2) 580 2m/kN  

 (3) 680 2m/kN  

 (4) 880 2m/kN  

 

98. ಸಂěತ ¯ೇಕ�ಾ®ಾರು ಅĖÎ�ೇō ಗಳ� ಪÎĦ 

ಜರģ©ಾಡುĻ�ೆŴಂĨ�ೆ 80 mm - 0.150 mm 

®ಾÍīÃಯವ� ಬಂದ ಪÎಜುರವನುÇ ಆİ�ಟÎĸ 

ಸಂ�ೆÍ 100 ĸಂದ §ಾĖľ¡ಾಗ ಬರುವಂತಹುದು. 

 (1) ಶ�ನÍ ಅನು¤ಾತ 

 (2) ನಯ�ೆ ¨ಾಡುಲŤ 

 (3) Ļļಷ¾ ±ಾಂದÎ�ೆ 

 (4) ಬş´ ¨ಾಡುಲŤ  

99. ¤ಾÐಸ¾ĸಂŅ ¨ಾಡು®ಾಗ ūದಲ, ಎರಡ£ೆಯ 

ಮತುÃ ಮೂರ£ೆಯ ಪದರು ĪĲ�Ħಯ ²ೆಸರು 

ಅನುಕÎಮ®ಾĖ 

 (1) ªೆಂಡĸಂŅ �ೋō, įÐೕġಂŅ �ೋō, 

±ೆġಂŅ �ೋō  

 (2) ªೆಂಡĸಂŅ �ೋō, ±ೆġಂŅ �ೋō, 

įÐೕġಂŅ �ೋō  

 (3) įÐೕġಂŅ �ೋō, ±ೆġಂŅ �ೋō, 

ªೆಂಡĸಂŅ �ೋō 

 (4) ±ೆġಂŅ �ೋō, ªೆಂಡĸಂŅ �ೋō, 

įÐೕġಂŅ �ೋō 

 

100. ¤ಾÍರ¤ೆō �ೋ�ೆಯ �ಾಂ¤ೌಂģನ ĳೕ¬ೆ 

²ಾಕ¬ಾಗುವ ಕĹÐನ ಪದರು ಮ­ೆಯ ರč�ೆ�ೆ 

ಇರುವಂತಹದು. ಇದರ ²ೆಸರು 

 (1)  ೊÎೕġಂŅ  

 (2) ®ೆದĸಂŅ  

 (3) �ೋīಂŅ  

 (4) ಇವ�ಗಳĹÐ ©ಾವ�ವ� ಅಲÐ 
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97. The safe permissible loads 

allowed on first class brick 

masonry in C:M is equal to  

 (1) 280 kN/m2  

 (2) 580 kN/m2 

 (3) 680 kN/m2 

 (4) 880 kN/m2 

 

98. The parameter which is obtained 

by adding the cumulative 

percentage of aggregates returned 

on each sieve ranging from 80 

mm to 0.150 mm and dividing the 

sum by an arbitrary number 100 is   

 (1) Void ratio  

 (2) Fineness modulus 

 (3) Specific gravity 

 (4) Bulk modulus 

99. First coat, second coat and third 

coat in plastering are also 

respectively known as  

 (1) Rendering coat, Floating 

coat, Setting coat  

 (2) Rendering coat, Setting coat, 

Floating coat 

 (3) Floating coat, Setting coat, 

Rendering coat 

 (4) Setting coat, Rendering coat, 

Floating coat 

 

100. A course of stone which is laid at 

the top wall of a compound wall 

or a parapet wall so as to protect 

the wall from the rain water is 

called  

 (1) Throating  

 (2) Weathering 

 (3) Coping 

 (4) None of these 
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ÔåÚÈå¤Äó ’ðëé µ́ó

† ÇÈåÐ×ðÆÇÈåíúÜÝ¾’ð²ìåêÄåêÆ ¼ð²µð²ìåêêÔåÒ¼ð ÅÔåê˜µð ½â–ÜÈåêÔåÔå²µð˜µåë …ÁµåÄåêÆ ¼ð²µð²ìåê’åë´µåÁµåê.

ÇÈåÐ×ðÆÇÈåíúÜÝ¾’ð
ÅÁ™¤ÚÈå± ÇÈå½Ð’ð

(ÇÈå½Ð’ð-II)
úúúúú

µ̃å²™ÚÈå³ ÜÈåÔåê²ìåê ‘ 2 µ̃åÒ ð̄̃ µåâÿåê µ̃å²™ÚÈå³ ƒÒ’å̃ µåâÿåê ‘ 200

A

ÕÚÈå²ìåê ÜÈåÒ’ðé¼å : 126

ÜÈåëôåÄð˜µåâÿåê
1.  ÇÈå²™é’ðÛ ÇÈæÐ²µåÒÊ·å̃ µðëÒ µ́å ¼å’åÛ¸Ôðé õ.ŠÒ.„²µó.  ‡¼å¾²µå ßæâÿð²ìåêÑ–Ó ÇÈåÐ×ðÆ ÇÈå½Ð’ð ×ðÐéº²ìåêÄåêÆ ̃ µåê²µåê¼åê Ôåìæ µ́åêÔå

ÔðëÁµåÑê, † ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåêÑ–Ó ÔåêêÁ™Ð¼åÔæ µ̃åÁµå ƒÁ¿·µåÔæ ßå²™Á™²µåêÔå ƒÁ¿·µåÔæ ²ìåìæÔåíúÁµðé ÇÈåíú® …ÑÓÁ™²µåêÔå ƒÁ¿·µåÔæ
ÔåêêÁ™Ð¼åÔæ µ̃åÁµå ÇÈåÐ×ðÆ µ̃åâÿåê …¼æÏÁ™ §âÿå̃ µðëÒ ™́ÑÓÔðÒÊêÁµåÄåêÆ ÅéÔåíú ÇÈå²™é“ÛÜÈå¼å’å”ÁµåêÂ. ÔðêéÑ–Äå ²ìåìæÔåíúÁµðé ÁµðëéÚÈå
’åÒ µ́åêÊÒÁµåÑ–Ó ƒÁµåÄåêÆ àÒ½²µåê ™̃ÜÝ ÑÊ·åùÏÕ²µåêÔå ×ðÐéº²ìåê ÇÈå²™ÇÈåî¸¤ÔæÁµå Êðé²µð ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåêÄåêÆ ÇÈǻ µð²ìåê¼å’å”ÁµåêÂ.

2. ƒÊ·åùÏÁ¿·™¤²ìåêê ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåê ÔåÚÈå¤Äó ’ðëé µ́ó A, B, C ƒÁ¿·µåÔæ D, ƒÄåêÆ Ôåê¼åê¾ ÄðëéÒÁµåº ÜÈåÒ•ÿðÏ²ìåêÄåêÆ  OMR

‡¼å¾²µå ÇÈå½Ð’ð²ìåêÑ–Ó ƒÁµå’æ” ™̃ §Áµå̃ ™ÜÈåÑæ ™̃²µåêÔå ÜÈåÀâÿåÁµåÑ–Ó Ê²µðÁµåê ÜÈåÒ’ðé¼å (ŠÄó ’ðëé µ́ó) µ̃ðëâ–ÜÈåÊðé’åê. ßæ µ̃åë
Å˜µåÁ™¼å ÜÈåÀâÿåÁµåÑ–Ó ¼æÔåíú Ôåê¼åê¾ ÜÈåÒÕé’åÛ’å²µåê ÜÈåà Ôåìæ´™²µåêÔåíúÁµåÄåêÆ •¡¼å ÇÈå´™ÜÝ’ðëâÿåäÊðé’åê. õ.ŠÒ.„²µó.
ßæâÿð²ìåêÑ–Ó  ½â–ÜÝ²µåêÔå ²ìåìæÔåíúÁµðé Ôåìæà½²ìåêÄåêÆ Ê·å½¤ Ôåìæ µ́åêÔåíúÁµåê/ŠÄó ’ðëé µ́ó Ôåìæ µ́åêÔåíúÁµåê ƒÊ·åùÏÁ¿·™¤ µ̃åâÿå
¦ÔæÊæÂ²™²ìåìæ ™̃²µåê¼å¾Áµð. §ÒÁµåê Ôðéâÿð Ê·å½¤ Ôåìæ µ́åÁ™ÁµåÂÑ–Ó/¼åÇÝÉÁµåÂÑ–Ó ƒÒ¼åßå õ.ŠÒ.„²µó. ‡¼å¾²µå ßæâÿð²ìåêÄåêÆ
½²µåÜÈå”²™ÜÈåÑæ µ̃åêÔåíúÁµåê.

3. ÇÈå’å”ÁµåÑ–Ó §Áµå̃ ™ÜÝ²µåêÔå ôò’åÁµåÑðÓé ÅÔåêÍ ÄðëéÒÁµåº ÜÈåÒ•ÿðÏ²ìåêÄåêÆ
ÄåÔåêëÁ™ÜÈåÊðé’åê. ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåêÑ–Ó Êðé²µð ‹ÄåÄåëÆ Ê²µð²ìåêÊæ²µåÁµåê.

4. † ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð 100 ÇÈåÐ×ðÆ µ̃åâÿåÄåêÆ §âÿå̃ µðëÒ ™́²µåê¼å¾Áµð. ÇÈåÐ½²ìðëÒÁµåê ÇÈåÐ×ðÆ²ìåêê 4 ‡¼å¾²µå̃ µåâÿåÄåêÆ §âÿå̃ µðëÒ ™́²µåê¼å¾Áµð.
ÅéÔåíú ‡¼å¾²µå ÇÈå½Ð’ð²ìåêÑ–Ó ̃ µåê²µåê¼åê Ôåìæ µ́åÊðé’ðÒÁ™ÅÜÈåêÔå ‡¼å¾²µåÔåÄåêÆ „²ìðê” Ôåìæ ™́’ðëâ–ä. §ÒÁµåê Ôðéâÿð ƒÑ–Ó §ÒÁµå“”Ò¼å
ßðôåê¢ ÜÈå²™²ìåìæÁµå ‡¼å¾²µå̃ µåâ–Ôð²ìðêÒÁµåê ÅéÔåíú Ê·æÕÜÝÁµå²µð ƒ¼åêÏ¼å¾ÔåêÔðÅÜÈåêÔå ‡¼å¾²µå’ð” ̃ µåê²µåê¼åê Ôåìæ ™́. ‹Äðé „Áµå²µåë
ÇÈåÐ½ ÇÈåÐ×ðÆ µ̃ð ÅéÔåíú ’ðéÔåÑ §ÒÁµåê ‡¼å¾²µåÔåÄåêÆ Ôåìæ¼åÐ „²ìðê” Ôåìæ µ́åÊðé’åê.

5. ŠÑæÓ ‡¼å¾²µå̃ µåâÿåÄåêÆ ÅÔåê µ̃ð §Áµå̃ ™ÜÈåÑæ ™̃²µåêÔå ÇÈåÐ¼ðÏé’å ‡¼å¾²µå ÇÈå½Ð’ð²ìåêÑ–ÓÓ (OMR Sheet) ’ðéÔåÑ ’åÇÈåíþÉ ƒÁ¿·µåÔæ ÅéÑ–
×æÎê²ìåê  ÊæÑóÇÈæÎêÒ¯ó ÇÈðÅÆÄåÑ–Ó Ôåìæ¼åÐ µ̃åê²µåê¼åê Ôåìæ µ́åÊðé’åê. ‡¼å¾²µå ÇÈå½Ð’ð ßæâÿð²ìåêÑ–ÓÄå ÜÈåëôåÄð̃ µåâÿåÄåêÆ

µ̃åÔåêÅÜÈåêÔåíúÁµåê.
6. ŠÑæÓ ÇÈåÐ×ðÆ µ̃åâ–̃ µð ÜÈåÔåìæÄå ƒÒ’å̃ µåâÿåê. ÇÈåÐ½ ¼åÇÈåíþÉ ‡¼å¾²µå’ð” ÇÈåÐ×ðÆ µ̃ð Å µ̃åÁ™ÇÈǻ ™ÜÝÁµå ƒÒ’å̃ µåâÿå 0.25 ²µåÚÈåê± ƒÒ’å̃ µåâÿåÄåêÆ

’åâÿð²ìåêÑæ µ̃åêÔåíúÁµåê.
7. ¡¼åê¾ ’ðÑÜÈå’æ”˜™ ßæâÿð˜µåâÿåÄåêÆ ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåê ’ðëÄð²ìåêÑ–Ó ÜÈðé²™ÜÈåÑæ˜™Áµð. ÇÈåÐ×ðÆÇÈåíúÜÝ¾’ð²ìåê …ÄåêÆâ–Áµå ²ìåìæÔå

Ê·æ µ̃åÁµåÑ–Ó²ìåêë ÅéÔåíú ²ìåìæÔå ²™é½²ìåê ̃ µåê²µåê¼åÄåêÆ Ôåìæ µ́å¼å’å”ÁµåÂÑÓ.
8. ÇÈå²™é’ðÛ²ìåê Ôåêê’æ¾²ìåêÔåÄåêÆ ÜÈåë¡ÜÈåêÔå ƒÒ½Ôåê ̃ µåÒ ð̄ Êæ²™ÜÝÁµå ¼å’åÛ¸Ôðé ‡¼å¾²µå ÇÈå½Ð’ð²ìåê ßæâÿð²ìåêÑ–Ó …ÄæÆÔåíúÁµðé

µ̃åê²µåê¼åêÔåìæ µ́åêÔåíúÁµåÄåêÆ ÅÑ–ÓÜÈåÊðé’åê. ÜÈåÒÕé’åÛ’å²µåê ÊÒÁµåê ÅÔåêÍÑ–Ó²µåêÔå ‡¼å¾²µå ÇÈå½Ð’ð²ìåê ßæâÿð²ìåêÄåêÆ ¼åÔåêÍ Ôå×å’ð”
¼ð̃ µðÁµåê’ðëÒ µ́åê  Ñð’å”’ð” ¼ð̃ µðÁµåê’ðëâÿåêäÔåÔå²µð̃ µåë ÅÔåêÍ ÅÔåêÍ „ÜÈåÄåÁµåÑ–Ó²ìðêé ’åêâ–½²µå¼å’å”ÁµåêÂ.

9. ÇÈåÐ×ðÆ µ̃åâÿåê ’åÄåÆ µ́å Ôåê¼åê¾ „Ò µ̃åÓ Ê·æÚÈð²ìåêÑ–Ó²µåê¼å¾Ôð. ’åÄåÆ µ́å ÇÈåÐ×ðÆ µ̃åâÿåÑ–Ó ÜÈåÒÁµðéßå ‡Ò¯æÁµå²µð, Áµå²ìåêÕ®ê± „Ò µ̃åÓ Ê·æÚÈð²ìåê
ÇÈåÐ×ðÆ˜µåâÿåÄåêÆ ˜µåÔåêÅÜÈåêÔåíúÁµåê. ÇÈåÐ×ðÆ ÇÈå½Ð’ð²ìåê ÇÈåÐ×ðÆ˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµðé ˜µðëÒÁµåÑ˜µåâ–ÁµåÂ²µåë „Ò˜µåÓÊ·æÚÈð²ìåê ÇÈåÐ×ðÆ˜µåâÿðé
ƒÒ½ÔåêÔæ ™̃²µåê¼å¾Ôð.

ÄðëÒÁµåº ÜÈåÒ•ÿðÏ

²ìåìæÔåíúÁµðé ²™é½²ìåê ÔðëÊðñÑó Ç·ÈðùîéÄó, ’æÏÑó ’åêÏÑðé®²µó Ôåê¼åê¾ …¼å²µð ²™é½²ìåê ŠÑð’æ±øÅ’ó/’åÔåêêÏÅ’åðéÚÈåÄó
ÜÈæÁ·µåÄå̃ µåâÿåê …¼æÏÁ™̃ µåâÿåÄåêÆ ÇÈå²™é’æÛ ’ðéÒÁµåÐÁµå „Ôå²µå̧ Áµðëâÿå̃ µð ¼å²µåêÔåíúÁµåÄåêÆ ÅÚÈðéÁ·™ÜÝÁµð.

Note : English version of the instructions is printed on the front cover of this booklet.126-A


